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DO xX*+x-2=0 @ x>4+4x=0
@ 2x24+5x+2=0 @ 2x2-Tx+6=0

B 3x2-27=0



x of] T3t oA A ax? - px —ap - 3q = 0 ©] a 9] el TAIglo]
T x=39 = 7ML W, p+q o B FoHH?



1

A
a1

3

ks

A7) = 747} o3

=
=

2 <2x-2 <5t
X tax+b=09FLd, a9

-
ol

® 51 ® 11 @ -11 B -61

@D 61



29

o] %k

4
a?

lad o, a® +

5

® 13 15 @ 16 ® 18

D 12



)
iy
=
—_
N
il
S
il
Xfo
vl
_—
o)
o
(an)
o
i
|
[
S %
|
A
)
i -
| S
ol
CUS
T o|)
™ N
—_
X or
o0

@ 3 B 4 @ 5 ® 6

@D 2



(x+n)? = -6 9] E= e of,

1
3

olJ

ol

® -21 ® 27 @ -27

D 21



Ol A 2 + 25+ A = 0 O] o] x =2 EE

x=-4< 0 A2



